Universal almashtirishlar
1.135. Tenglamani veching:

1) 2sin®x + cosix — 2 = 0: 2) 2sin?x + cosx = 0;
3) sinxcosx = 0; 1) sin?x + sinx — cosix + 1 = 0;
J) sinxcosx =§ : 6) cos?2x +sin2x = 2.

1.136. Bir jinsh 1-'.:1 unga keltiriladigan tenglamani veching:
1) sin?x — 2sinxcosy + cos®x = 0;

2) Tecosiy — 3sin?x = 0;

3) cos?2x — 10sin2xcos2x + 21sin?2x = 0;
4) 8sinZx — cosix = 0;

3) cos?x — 2costx — dsin?x = 0:



6H) sin?3x + 7cos?3x = bsin3xcos3x:

7y cos®x + costx sindxy = cos x sin‘x + cos?x sintx:

8) 2sindxy — 6sin’x cosx — 23cosiy sinZy = 0:
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9) ].ﬂEGSl%—?rSJJII—D:ﬂ.' I11) sin™ x +cos l=%:
10) cos?x —sin?x = 2sindy: 12) sin®x + coséx =cos?2x.

1.137. O'rniga qo'vish usulidan fovdalanib yveching:
1) cos?x + 1 = 2cosx;

2) 3cos?xy sinx + 1 = 3cos?x + siny;

3) b6cos’x + Osinx — 3cosxy - 3=10;

4) 3sin’x cosx + 6cos*x — 10cosx + 6 = 0;

5) 1 +sin?2x = (1 - cosx)?.



